14 GA 125° X 1.25° X 1
PUNCHED ANGLE ATTACHED TO
ADJUSTABLE SLIDE ON TOP
FIXTURE WITH <1> 5/16° X
3/4° BOLT AND NUT

2° 10 BALL STEEL

9’ LONG STEM ROLLER
W/ 77167 RETAINER FOR
NON-THREADED SHAFTS

12 GA. GALV. STEEL
COMMERCIAL TOP ROLLER
BRACKET ATTACHED W/<(4)
174’ x 3/4° HEX HEAD
SCREWS PER BRACKET

W

ADJUSTABLE ROLLER CARRIER
ATTACHED W/ (@) 5/16° x 3/4°
BOLT & NUT PER BRACKET

S 1/2°H X 18 GA, R-TRUSS
ATTACHED W/(2) 1/4° X 3/4°
HEX HEAD SCREWS A

EACH CENTER STILE

S 1/2°H X 18 GA. R-TRUSS
ATTACHED W/(3> 174° X 3/4°
HEX HEAD SCREWS AT ENDSTILES
AND W/<2) 174’ X 3/4° AT

EACH CENTER STILE

LOCATION ON TOP SECTION

TYPICAL CENTER HINGE

14GA. (MIN.) CENTER HINGE ATTACHED
W/ A TOTAL OF (3> 1/47 x 3/4°
HEX HEAD SCREWS

(2> SCREWS IN THE TOP LEAF

(3> SCREWS IN THE BOTTOM LEAF

LARGE MISSILE
IMPACT RESISTANT

14GA. ADJUSTABLE ROLLER
CARRIER ATTACHED TO R-TRUSS
/ (3 1/4° x 3/4*

HEX HEAD SCREWS

14 GA. C(MIND

END HINGE ROLLER
CARRIERS ATTACHED

W/ <3 TOTAL 1/4° x 3/4°
HEX HEAD SCREWS

(2> SCREWS UPPER LEAF
(3> SCREWS LOWER LEAF

27 10 BALL STEEL

9° LONG STEM ROLLER
W/ BOLT RETAINER USED
FOR NON THREADED SHAFT

N.T.S.

TYPICAL TOP FIXTURES 1
N.T.S.

@

S 1/2°H X 18 GA. R-TRUSS
ATTACHED W/(2) 174 X 3/4*
HEX HEAD SCREWS AT

EACH END STILE

t
21 MAX
SECTION
HEI'GHT

TYPICAL END HINGE 3
N.T.S.

SLIDE LOCKS ]
OR

2 12 GA COMMERCIAL

ATA LOCK
MODEL
AUTOLOCK
(2 PLACES)

AT EACH END STILE

=,

i A

18'-0

TYPICAL TOP
SECTION

MAXD

INS VAT
N.TS.

3 GA, BOTTOM BRACKET BASE
ATTACHED W/(2) 174" X 3/4°
HEX HEAD SCREWS

3 X 20 GA. STRUT
ATTACHED W/<@> 1/4° X 3/4°
HEX HEAD SCREWS AT

EACH END STILE

N.T.S.

TRBB-375 BOTTOM BRACKET@

20 GA. GALV. STEEL END STILE
ATTACHED TO DOORS SKIN WITH
(@ #8 X 1/2° SCREWS PER STILE

1> 1/4-20 x 5/8° TRACK
SPLICE BOLT AND NUT PER
JAMB BRACKET

2" GALV. STEEL TRACK
THICKNESS .083"(MIN.)

TRBB-375 BOTTOM BRACKET 4B
N.T.S.

JAMB SEAL 2

/ OPTIONAL

INTERMEDIATE
HINGES 14GA (MIN.)

TRACK MOUNTING
N.T.S.

S 1/2°H X 18 GA
¢5* R-TRUSS)

DETAIL

13 GA. BOTTOM BRACKET
ASSEMBLY ATTACHED
W/(4) 174" X 3/4°

HEX HEAD SCREWS

<2 ON BASE AND

2 ON ROLLER FLANGE>

2° 10 BALL STEEL

9* LONG STEM ROLLER
W/ 7/16° RETAINER FOR
NON-THREADED SHAFTS

FOR NON-THREADED SHAFTS

14GA, ADJUSTABLE ROLLER
CARRIER ATTACHED TO R-TRUSS
W/ (3) 1/74° x 3/4"

HEX HEAD SCREWS

EXTERIOR SKIN
27 GA MIN

14GA. END HINGE

¥y

S BSOS
{ 3‘*

INTERIOR SKIN 27 GA

T Lt

W/ (3) 174" x 3/4°
HEX HEAD SCREWS

TONGUE & GROOVE
SECTION JOINT

VR A

g
Ad

SN
T

EXTRUDED
VINYL BOTTOM SEAL
ATTACHED WITH SCREWS

BOTTOM BRACKET
ATTACHED

W/ (4 1/4° x 3/4°
HEX HEAD SCREWS

SECTION A—A (SIDE VIEW)
N.T.S.

_fm‘
AR

THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE
WITH THE PROCEDURE DESCRIBED IN DASMA 108 & 115, ASTM
E330, E1886, E1996, & F588. THE PRESSURES SHOWN ON THE|
DRAWINGS WERE CALCULATED USING ASCE 7-98/02/05 WITH

THE FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN THE
END ZONE, ROOF AT ANY SLOPE I=1.0):

WIND SPEED (MPH) 155 140 133 127 122

EXPOSURE LEVEL B C C D D

MEAN ROOF HEIGHT | 30 15’ 25 15’ 25

OP FIXTURE ATTACHED W/(4)
174’ x 3/4* HEX HEAD SCREWS

ADJUSTABLE SLIDE BRACKET ATTACHED
W/(2> 174" x 172° BOLT AND NUTS

TOP SECTION' 5 1/2°H X 18 GA.

S’ R-TRUSS) GALV. STEEL R-TRUSS
ATTACHED STACKED ON BOTTOM OF

TOP FIXTURE W/ (3) 174" x 3/4*

HEX HEAD SCREWS AT EACH END STILE AND
W/ 2> 1/4° x 3/4° AT EACH CENTER STILE REV

() S 1/72°H X 18 GA. GALV.
STEEL R-TRUSS (5° R-TRUSS)
ON INTERMEDIATE AND BOTTOM
SECTIONS ATTACHED W/ (@)

TYPICAL 174’ x 374’ HEX HEAD SCREWS
INTERMEDIATE AT EACH END STILE AND
SECTION AT EACH CENTER STILE

14GA. ADJUSTABLE ROLLER
CARRIER ATTACHED TO R-TRUSS

SPECIFICATIONS AND NOTES

1. DOORS AND HARDWARE WILL BE DESIGNED, MANUFACTURED
AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:
+333.0 LBS/FT & —365.4 LBS/FT

2. DOOR SECTIONS SHALL BE 27 GA. MIN. (.0151")

ROLLED FORMED LIGHT COMMERCIAL QUALITY

3. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED
BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS
INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.

INTERIOR OF GARAGE

MAX. WIDTH 18'0" |

sams pesion Loaos [ [T TTTTTTT]

+333.0 LBS/FT
~365.4 LBS/FT ~ SEE NOTES 1

DESCRIPTION OF REVISIONS DATE IBY

MAX SIZE

o

— -l

18 wDTH_ | 85 RS \‘\\\\ N

14 HEIGHT | B2 e OFT 5*‘\\ g

(DOOR HEIGHT | w ik «V‘. A ' 9

SUBJECT T0 =% U] S

WEIGHT LIMITATIONS) CE ‘,. * ' o

B s o A

TRl F el T e

DESIGN LOADS £5 HOMAS L. SHELMERDIN é? >

. D s yorgersarsercanaartsordialy >

-40.6 PSF | 5 ‘9p 8582 q/ 27 =
L3 ‘. o) 4

78 MO ¢

TEST LOADS | J2 W8 oo &

+55.5 PSF | 85 W OTONALEY, =~ =

-60.9 PSF | 58 AN N g Q@

£5 S

A

—
x

TYPICAL BOTTOM

a) 5/16* x 1 5/8° SECTION 4 1> 3° 20 GA STRUT ON

AT NS = BOTTOM SECTION ATTACHED W/¢@

= 1/4* X 3/4" HEX HEAD SCREWS AT
FOLYURETHANE = EACH END STILE, AND EACH CENTER ari

2°-10 BALL STEEL INSULATI = STILE
LONG STEM ROLLERS : ENTREMATIC
W/ 7/16° BOLT RETAINER 2 ENTREMA

MODEL P500 AMARR OLYMPUS 500
MODEL D500 AMARR DESIGNERS CHOICE DC-500

SIE| DRAWNBY  RIR| DATE 02/06/18 DRAMNG NUMBER

B | coECKED BY RR| DATE 02/06/18 |IRC-P318-155-26-
ENTREMATIC

165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105 SHEET 1 OF 3




TABLE 1
HEIGHT

TRACK ATTACHMENT SPLICE
a WOOD JAMB ATTACHMENT TO STRUCTURE

MB ATTACH FR R
5/16° X 3* LAG SCREWS STARTING 6’ FROM ENDS THEN 14° OC. (1 172’ EMBEDMENT)
2 X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PST CONCRETE
HILTI KWIK BOLT 3/8° X 47 STARTING 6’ FROM ENDS THEN 247 OC. (2 1/2" EMBEDMENT)
HILTI SLEEVE ANCHOR 3/87 X 2-3/4 STARTING 6’ FROM ENDS THEN 12* OC. (1 1/4’ EMBEDMENT)
ITV/RAMSET REDHEAD (TRU-BOLT) 3/8° X 4° STARTING 6’ FROM ENDS THEN 24" O.C. (2 1/2° EMBEDMENT)

2 X 6 VERTICAL JAMB ATTACHMENT TO HOLLOW C-9C BLOCK

SIMPSON 1/4* X 3 TITEN SCREWS STARTING 6 FROM ENDS, USE PAIRS OF FASTENERS
(3 APART) AT 8 O.C. 1 1/72° EMBEDMENT)

HILTI 1/4° X 2-3/4° KWIK-CON II+ SCREWS STARTING 6‘ FROM ENDS, USE PAIRS OF
FASTENERS (3 APART) AT 87 O.C. <1 1/4" EMBEDMENT)

RTICA MB_ATTACHMENT R — K (¢ P
HILTI SLEEVE ANCHOR 3/8” X 2-3/4 STARTING 6° FROM ENDS THEN 147 OC. (1 1/4°
EMBEDMENT> (OR, USE FASTENERS FOR HOLLOW C-90 BLOCK>

*_AGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION OF wOOD JAMBS BY OTHERS

1 1 i Y

wooD CONCRETE HOLLOW BLOCK
5 STRUCTURE STRUCTURE STRUCTURE GROUTED e-CK
g - - -
e \ \ \ . \
== =T == ]
ALL TRACK ATTACHMENT SPACING +/— 1" ALLOWED WITH SYP OR SPF NO. 2 OR BETTER ONLY l |
172" MIN 2-3/4° MIN 1-1/72* |MIN 4
14 GA. FLAG BRACKET ATTACHED TO WOOD JAMB 2X6 JAMB
W/ (3> 5/16 DIA. X 1-5/8 LAG BOLTS AND TO 7 TYP. e
TRACK W/ (4) 1/4°-20 x 5/8 TRACK SPLICE 7
7 G’D BOLTS AND NUTS ?
/ - ¥
) é
SPLICE TRACKS AT THIS LOCATION 7
==le——W/ (4) 1/4"-20 TRACK SPLICE BOLTS & NUTS %
SECURE TO JAMB WITH (3) 5/16" DIA. x 1-5/8" / REV | DESCRIPTION OF REVISIONS DATE |BY
LAG BOLTS /! |
/ MAX SIZE | 5@ g
% & wori | 35 N R
% 14" HEIGHT | 83 e OF TEPN g
Z (DOOR HEIGHT | wik - ‘\V‘ A g \, g
SUBJECT TO &t s G <4 2
WEIGHT LIMITATIONS) E:__ ; x & “ x4 2
(1) 5/16" DIA. x 1-5/8" Bg g L9 ¢
. X 1= o= . / [G]
LAG BOLT ATTACHED TO JAMB , DESION Loer™ &5 ;, g
AT EA. JAMB BRACKET : g 2
4 —40.6 PSF
g £ % B o H
e e TEST LOADS | 25 WG ENSEN 8
N 12 GA. GALV. STEEL — S555 Pk | 85 \\\SIONA\_Q\\ -~ 5
THROUGH JAMB BRACKETS I _60.9 PSF ES LA™ ©
N ATTACHED W/ (1) 1/4"-20 x 5/8" = E P : £2 <
; TRACK SPLICE BOLT & NUT L e & 8 2 TX a
| N E o
| 14 é ? 5 g | :gz
L ) T & = | P ' '
i = |8 1,' 2 Al g a
D i : & B .
ENTREMATIC
MODEL P500 AMARR OLYMPUS 500
r' ]] TJ MODEL D500 AMARR DESIGNERS CHOICE DC-500
1 %
e T . — —d' o SZE| ORAWNBY  RIR| DATE 02/06/18 DRAWNG NUMBER
— ABLE 1 FOR JAMB BRACKET SPACING AVAILABLE TRACK CONFIGURATIONS B cExmer RR| DAE 02/06/18 IRC-P518-155-26-1
TRACK CONFIGURATION FOR 6'6” UP TO 14’ TALL DOORS NTS. T
165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 SHEET 2 OF 3




TABLE 2

/.055' 6060 EXTRUDED ALUMINUM EXTERIDR FRAME

<10> #8 X 1" PHILLIPS

HEAD SHEETMETAL SCREVS\

L

174" MAKROLON POLYCARBONATE

/ MANUFACTURED BY BAYER
[
™Y

r

.055* 6060 EXTRUDED ALUMINUM
INTERIOR FRAME

Section Center Stile Locations
(Measured from Left)

. 1st 2st 3rd
Width ® iy | an) | n)
16' |2 50.27 | 97.00]143.73
16' |4 51.27 | 98.00 | 144.73
16' |6 52.27 | 99.00 [ 145.73
16' |8 51.34 (100.00( 148.66
16' |10 51.50 |101.00{ 150.50
17' |0 53.34 [{102.00| 150.66
17" 12 53.00 |103.00] 153.00
17' |4 54.00 [104.00( 154.00
17' |6 55.00 |105.00 155.00
17' |8 54.80 |106.00{ 157.20
17' |10 55.80 [107.00{ 158.20
18' |0 57.25 [108.00( 158.75

TOP FIXTURE REINFORCEMENT
ILLUSTRATION

TOP FIXTURE ADDER PIECE

2,

SECTION B-B IMPACT WINDOW DETAIL

1/8° X 1/8° CONTINUOUS
POLYURETHANE GASKET

N.T.S.

HORT P A

PTIONA
N.T.S,

' 384 MAX. DLO |

X s X 3 x

108”
MAX. DLO

LONG PANEL GLAZING FASTENER DETAIL
N.T.S.

REV | DESCRIPTION OF REVSIONS DATE  [BY

o

MAX SIZE | 5@ g

18 WIDTH_ | 58 AR Y N

14" HEIGHT 3‘8’ = \EOF TE \\\ Q

18-1/8" DLO (D0OR HEIGHT | S AR PN s

SUBECTTO | & » G ) S

WEIGHT LIMITATIONS)| ,>_<§ ;* :,- q 0 @

= - o i BB P N b

P ¥ g« / Ob B

+37.0 PSF |55 IIT ................. EBE 'NE""? g

-40.6 PSF |5 rA% 85829! 3 2

10-5/8° DLO 23 W, Uopns®’S B

TEST LOADS |2 N &g s O £

+555 PSF | 85 WO/ONALEY =~ ~

1 I -60.9 PSF | 5§ ASCRX g ®

=5 TX 5

wn

SHORT PANEL GLAZING FASTENER DETAIL

N.TS, 74@,’7
ENTREMATIC

MODEL D500 AMARR DESIGNERS CHOICE DC-500

MODEL P500 AMARR OLYMPUS 500

SZE| DRAWNGBY RR| DATE 02/06/18 DRAMNG NUMBER

B | cEckemBY RIR| DATE  02/06/18 IRC-P518-155-26-1
ENTREMATIC

165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105 SHEET 3 OF 3




